Andrews v Law Society of British Columbia (1989) S.C.C. 

Andrews, a British subject permanently residing in Canada, had taken law degrees at Oxford University in England.  He met all the requirements for admission to the BC bar under the Barristers and Solicitors Act, except that of Canadian citizenship.  Andrews brought an action for a declaration that the requirement violated Section 15(1) of the Charter.

Andrews’ case was dismissed at trial but allowed on appeal. (Q -WHY?)  The Law Society of BC then appealed to the Supreme Court of Canada.

The Supreme Court ruled that the effect of the discrimination must be considered and in this case, it had an adverse affect on Andrews. They ruled therefore that his equality rights had in fact been infringed. One justice remarked, “If we allow people to come and live in Canada, I cannot see why they should be treated differently from anyone else. Section 15 speaks of every individual.”

NOTE: The Attorney General of BC said the citizenship requirement HAD been included for these three reasons:

1. Citizenship ensures a familiarity with Canadian institutions and customs.

2. It implies a commitment to Canadian society.

3. Because lawyers play a fundamental role in the Canadian system of democracy, they should be citizens.

QUESTIONS:

 1.After reading the note, do you still think the correct decision      

    was made?

2.Is there a danger of precedent with respect to prov. labour law?

3.Why did the lower courts dismiss the case?

